f=thlb, +b,)
Chapter 9

Lesson 3: Area of Trapezoids

Trapezoid- a quadrilateral with only ONE pair of parallel sides.
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Find the missing height:

Use the related formulal h = 5 iAb to find the height of a trapezoid.
17 0

=5h(b+b,)

EXAMPLES:

d. A= 24cm? h=—z-% e. A=21yd?
by, = 4 cm T2 by=2yd Zi=2h(2+5)
b2—12cm n= Z"l b, =5yd
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A play tent is shown. How much fabric
was used to make the front and the back-
of the play tent?
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Each figure below is made up of congruent trapezoids. Find the area of each figure.
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